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QUESTION 1

What is the Correction Layer mechanism?

A. Ensures asymmetric traffic is handled properly, especially in the case of NAT or VPNSs.

B. The load-balancing mechanism used by the MHO.

C. The MHO\\'s distribution algorithm which determines the handling SGM for a given connection.

D. Enforces the access policy on the SGMs and synchronizes the enforcement verdict to other SGMs in the SG.

Correct Answer: A

QUESTION 2

What is the command \\'asg diag\\' used for?

A. Asg diag used for system diagnostics on Chassis only. It does not exist on Maestro
B. Asg diag is used for system backup

C. Asg diag is used for system diagnostics

D. Asg diag is used for creating traffic flow diagrams

Correct Answer: C

QUESTION 3
When a VPN tunnel is formed with a Maestro SGM,

A. The receiving SGM makes an encryption decision. The SGM then syncs the traffic to two backup SGMs: one for clear
traffic and one for encrypted traffic.

B. SGM 1 analyzes the policy and topology. If encryption is required, it calculates the tunnel owner\\'s IP address. SGM
1 sends a clear packet to the tunnel owner. SGM 2 is now the connectionand tunnel owner.

C. The MHO handles the IKE before distributing the traffic to a SGM to handle all encrypted traffic. This helps to prevent
any issues with the correction layer.

D. The MHO distributes copies of the packets to two different SGMs because SGM 1 will handle the clear traffic IKE
exchange packets, while SGM2 handles encrypted packets.

Correct Answer: C

QUESTION 4

Which command should be used to restart Orchestrator service only?
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A. orchd restart

B. reboot

C. service orchestrator restart
D. cpstop; cpstart

Correct Answer: A

QUESTION 5

What is the default Distribution mode?
A. Auto-topology

B. User

C. Manual-General

D. Network

Correct Answer: A
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